1709209412 Intl memo no 918-001 - Anx B - Work Completion Report_28-02-2024_ver3.xlsx

Company	MRMLLP	Section with the second							29
Project/site	GMR	日本日 4.4 山中土	Name of contractor	Bishu datt	a	Sl. No. site	bills reg.	3482	281
Block no.	E block	多層層片量別等色	Nature of work	Rods Anc	hor lockset	Dt. site bill	s reg.	12.04.24	1994
WO no.	2 Olock	4-91	Work done from date	15.03.24		M-codex b	ill ID.		200
WO date	S S S S	· · · · · · · · · · · · · · · · · · ·	Work done to date	10.04.24		WO issued	?	द्राच ३ द वारा	
Sl. No.	Unit/floor no	Parker CE	Contractor bill no.			GST bill re			Auronat
1			Details of work		Qty	Units	Rate ID	Rate	Amount
2	E block	14mm hole drilling	1112122		102.000	no.s	RCC156	30.00	3,060.00
	31 51	12mm rod anchoring			102.000	no.s	RCC155	15.00	1,530.00
3		18mm hole drilling		120,000,000,000	52.000		RCC158	50.00	2,600.00
4	MAN STATE	16mm rod anchoring			52.000		RCC157	20.00	1,040.00
	Scaffolding	Between C & E block	for steel shifting		690.000		RCC155	2.25	1,552.50
6		THE CE E DIOCK	Tor steer siniting	101 HT 9 H	090.000	Sit	8 8 8 8 8 8	La	
7				0.9.515					
8			### ### ### ### ### ### ### ### #### ####						
9									
10		<u> </u>							
Total		7 6 7							0.702.50
dd GST @					13 2 2 2 3		2442	10.0004	9,782.50
Total				8 8 9 9 9			24 14 2 14 14 14	18.00%	203
marks:		1 1 E E E E B 1 E E							9,782.50
	roject manager		A Fight I Hay	9 2 8 8 8	इ धाराज्ञी	33333	य प्रकास स्व	9 19 18 19 19	2
gn:	Viect manager	3 8 9 9 5 3 7 5	Approved by QS team	2 8 6 2 3	1	Approved by	Director/E&D	team	Par Carlot
te:	Dune	1 /24	Sign:		S	ign:			
es: 1 This shoot		13/01/	Date:	DE VER	I	Date:	Links St.	C 20 3 5 5 4	

Notes: 1. This sheet replaces installation report and advice for credit to contractors. 2. This word form must be typed. 3. Use this form even if work order is not issued. 4. Attach measurement and estimate sheets only if required i.e., details cannot be entered above. 5. For bill amount greater than 10k QS manager and directors approval is required. 6. For bill amount less than 10k any QS team member may sign and in place of director sign of respective E&D member to be taken. 7. Director include – Soham, Anand Mehta (for GHT + GMR), Sachin (for Vivopolis), B. anand Kumar (for NGH + NRK), 8. Entry of rate ID is mandatory. 9. This sheet must be sent within 2 working days of work completion (with or without contractors bill). 10. Contractors to send scanned copy of bill to site and QS by email. 11. Contractors must submit original bills at HO (can be

ESTIMA	TE SHEET							
Company Project:		MRMLLP			Approved	i by:	Ahmed	
Work De	scription:	Gulmohar Residency			Sign:			
Contracto	or Name:	Rods Anchor lockset						
Prepared	P.	Bishu datta						
Date:	Ву	Nagendar						
		12.04.24						
S No.								
1	Item Head	Item Description	Quantity	Units	Rate	Amount	Item Head Tota	al
	Rods Anchor lockset	14mm hole drilling	46	No.s	30.00	1,380.00	A STATE OF	Syles
	Driveway slab C & E block slab lvl- 96' 6"	12mm rod anchoring	46	No.s	15.00	690.00		
		18mm hole drilling - beams	52	No.s	50.00	2,600.00	NAME OF THE OWNER, OF THE OWNER, OF THE OWNER, OF THE OWNER, OWNER, OWNER, OWNER, OWNER, OWNER, OWNER, OWNER,	
	A PARTY WAS ARREST ALL LINES.	16mm rod anchoring	52	No.s	20.00	1,040.00		
2	Ghlad			1.09		(C)48 (C)		100
-	G block north east driveway	14mm hole drilling	56	No.s	30.00	1680.00	SALES TO SALES	
		12mm rod anchoring	56	No.s	15.00	840.00		
3	Scaffolding	Between C & E block for steel shifting	690	sft	4.00	2760.00	56	
						10990.00		

Company Name:						
	MRMLLP			Approved by:	ν.	Ahmad
Work Description:	Gulmohar Residency			Sign:	J.	Allilled
	Rods Anchor lockset			0		
	Bishu datta					
	Nagendar					
	12.04.24				4	
Itom II		Α	В	С	D	E= AxBxCxD
E block	Item Description	Length	Width	Height	Nos	Quantity
Rods Anchor lockest						
Driveway flat Constitution	14mm hole drilling	1.00	1.00	1.00	36.00	46
slab 1-1 CC E block 12mm rod anchoring	12mm rod anchoring	1.00	1.00	1.00	36.00	46
siao IVI- 96. 6	18mm hole drilling - beams	1.00	1.00	1.00	46.00	52
	16mm rod anchoring	1.00	1.00	1.00	46.00	52
G block north east driveway 14mm hole drilling	14mm hole drilling	100	3	3	3	-
•	13	1.00	1.00	1,00	20.00	00
	12mm rod anchoring	1.00	1.00	1.00	52.00	56
Scaffolding	Between C & E block for steel shifting	23.00	1.00	20.00	1.00	460
		33 00		4000		

Allowance for Labour charges

Bishu Datta Mallapur Hyderabad

Date: 13.04.24

In favor of: MRMLLP

Project / Site: Gulmohar Residency

Location: Mallapur

Type of Work: Anchor lock set

Towards: Allowance of labour charges.

S No.	Description	Amount
1.	Brief description of work done: Rods Anchor lock set Driveway slab C & E block slab lvl- 96' 6" & G block north east side driveway. Total amount =9782/ Work done from date 15.03.2024 to date 10.04.2024.	Rs.3912/-

Amount in words: Three thousand nine hundred twelve Only.

Sign:			
A STATE OF THE STA	THE LET		

Bill for Equipment Allowance

Bishu Datta Mallapur Hyderabad

Date: 13.04.24

In favor of:

MRMLLP

Project / Site:

Gulmohar Residency

Location:

Mallapur

Type of Work:

Anchor lock set

Towards:

Allowance of equipment

S No.	Description	Amount
1.	Brief description of work done: Rods Anchor lock set Driveway slab C & E block slab lvl- 96' 6" & G block north east side driveway. Total amount =9782/ Work done from date 15.03.2024 to date 10.04.2024.	Rs.3912/-

Amount in words: Three thousand nine hundred twelve Only.

Sign:		
		_

Allowance for Consumables

Bishu Datta Mallapur Hyderabad

Date: 13.04.24

In favor of:

MRMLLP

Project / Site:

Gulmohar Residency

Location:

Mallapur

Type of Work:

Anchor lock set

Towards:

Allowance of consumables.

S No.	Description	Amount
1.	Brief description of work done: Rods Anchor lock set Driveway slab C & E block slab lvl- 96' 6" & G block north east side driveway. Total amount =9782/	Rs.1957/-
	Work done from date 15.03.2024 to date 10.04.2024.	

Amount in words: One thousand nine hundred fifty seven Only.

Sign:	